Multiplicar Dos Polinomios (B)

Ot

Simplifique cada expresion.

(=T =9 =9 (Af7 + 61+ 3f°)

~(m? +5m +5)(=9m® — 6m* — 2m?)

(=92 + 92% — 62%)(—62* — 92® — 327)

- (8m® — 4m* + 2m*)(=3m* — 3m® 4 5m?)

(=Tn* +n —8)(5n + Tn? +n)

MatesLibres.com




Multiplicar Dos Polinomios (B) Respuestas

)}

(@)

Simplifique cada expresion.

(=T =9 =9 A+ 61 + 317
— 2810 78 — 111 /% — 817 — 27/

~(m?* 4 5m + 5)(=9m® — 6m* — 2m?)
— —9m" —51m°® — 7Tm® — 40m* — 10m?

(=92 + 927 — 6x2)(f63:4 — 92° — 32?)
= 542% + 272" — 1825 + 272° + 1824

- (8m® — 4m* + 2m?)(=3m* — 3m® + 5m?)
— —24m? — 12m8% + 46m” — 26mS5 + 10m°

(=Tn* +n —8)(5n + Tn?® +n)
— —35n° — 44n* — 40n>® — 55n° — 8n
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